ECE 2240 PRACTICE EXAM #2 prob 2 solution

Ex:

a)  Calculate the value of R, that would absorb maximum power.

b)  Calculate that value of maximum power Ry, could absorb.
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We remove R, turn off the
Lndepenaler\-!: sources, and Llook in
from the termunals for R, to Find R"h’
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b) Prmax = V'rt,
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We find Vrh at the terminalsg
where R, s <connected but without
R,. Since Vg Us sguared, we
% measure Vop in elther direction.
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No current Flows in the kottom
wire, swnde otherwise c‘hqn.:’e
would qccumulate on one side.
So +the +wo sides adt as sg,sqrq'(:e

circuH:s'_
vV, = -20mMA- 120 = ~2.%V (ohnt’s’
law
Vo= V- 33062 = 66V (v-divider)
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V-rh = V‘-‘Vz = -2 4V-6.6V =-9V
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Pmax =(qv) = 20.25 mW
b kS




